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PHYSICAL EDUCATION
Paper II1
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains seventy five (75) multiple choice questions. Each

question carries fwo (2) marks. Attempt all of them.
L Example of slightly moveable joints is joints :
(A) Between the vertebrae
(B) Between the skull bones
(C) Between ear ossicles

(D) Between intervertebral discs

2. How many Byes will be awarded if total number of teams in a tournament
is 21 2
(A) 8 (B) 10
(C) 11 D) 6

3. Which of the following tests is to measure sport competitive anxiety ?
(A) Big five (B) CSAI-2

(C) SCAT (D) MFI

T.B.C. : 12/17/ET-I1I 2
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4. The growth velocity of adolescent boys is maxi. .................. y
(A) 14-15 years | (B) 13-14 years
(C) 15-16 years (D) 16.5-17.5 years
5. The chronological age of sports kids refers to as :
(A) Degree of physical maturity
(B) Degree of mental maturity
(C) Duration elapsed since birth
- (D) Level of physical growth
6. A high endurance athlete consumes amount of carbohydrate :
(A) 4-6 gms/1 gm of body mass
(B) 6-8 gms/1 gm of body mass
(C) 8-10 gms/l1 gm of body mass

(D) 10-12 gms/1 gm of body mass

7. The transition period in sports training cycle refers as :
(A) Active rest (B) Full rest
(C) Light weight trg (D) Moderate endurance activities

TB.C.: 1217/ET-IIT 4



4. fruR o= § o wurr fawm ® oam e T

(A) 14-15 I # (B) 13-14 =% #H
(C) 15-16 94 ¥ (D) 16.5-17.5 94 #
5. @ o wedl § wiomey gy oeyd e Tl

(A) R gftgeaa &1 &R
(B) HAfa® IRy 1 ®R
(C) waiﬁmgww
(D) wﬁﬁ%m?ﬂw
6. TUH Ieg Wewla fEaergt fhaT FEiense o € 2
(A) 4-6 /1 UM & YRR THAA
(B) 6-8 UM/1 UM & YRR FHHA
(C) 8-10 7™/1 TH & YRR FA9H
(D) 10-12 7W/1 U\ % IR THEAA
7. O« e # gt safy @1 ood ¥ ¢
(A) wfwa ™ (B) goi 3™

(C) T 999 =t T (D) weaq gevie forard
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8. In athletics ‘Attire’ refers to as :

(A) Technical officials (B) Sports rules
(C) Sports administration (D) Sports uniform
9. Increase in muscles mass due to weight training refers as :
(A) Muscular hypertrophy (B) Muscles dehypertrophy
(C) Muscles nehypertrophy (D) Body trophy

10. Male elite endurance athlete consume the 0, :

(A) 80 ml/kg/min (B) 70 ml/kg/min
(C) 60 mlVkg/min (D) 65 ml/kg/min
11. The léss resting heart rate negatively correlates to sports performance of :
(A) Sprint (B) Archery
(C) Marathon (D) High Jump
12. The blood lactic acid has high concentration during :
(A) Aerobic exercises | (B) Anaerobic exercises

(C) Hard weight training (D) Dynamic stretching exercises

T.B.C. : 1217/ET-111 6
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(A) TR Al (B) @« fram
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(A) 80 et/ form. /e (B) 70 faeh./fFm./fae
(€) 60 foeit./fem./fre (D) 65 fue. /. /fAe
11, F9 JREE wE- TEREE w9 A gt 3l ¥
A) B g (B) gt
(©) T (D) FH H7
12. fogs oRm U TR § =9 w9 ¥ @@ @4 R
(A) fas e (B) merifas forad

(C) T&d a5 g (D) Tfaser <fen fwad
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13. The sports talent scouting means :
(A) Organize_ measures to detect signs of sports talent
(B) Psychological factors of sports talent
(C) Physical movement expression of sports talent
(D) Talented kids to spprts environment

14. Which are the most pre-requisite for sports talent :
(A) Motor learning ability, high potential and mental abilities
(B) Mental power, muscles strength and high achievements
(C) High motor abilitiy, physiological and mental capacities
(D) Current level of sports performance and achievements

15. In sports training “somatic” refers to the :
(A) Musculo-skeletal system (B) Blood circulation system
(C) Nervous system (D) Excretory system

16. One of the most important works of sport manager is :
(A) Leading (B) Controlling

(C) Organising (D) Preaching

T.B.C. : 12/17/ET-III 8



13. S whem SRR e e |
(A) Bd wfawr # gnfea ot & g0 ol &1 ==
(B) Bd wfawr & WS FRH
(C) @ wfaw =+t wifw wfedl =1 v

D) whrmgol =i B B qEEE A

14. g i & fau wed smavas Eiwiea =& 8 ?

(A) T fFa d@ien Ft e, 35 efad 9 HEfES &
(B) wMfas wiffa, wrageh wifdq o =0 Syafsy
(C) ¥=3 TINF &HAl, YFHACHE 9 HEAfaE aEard
(D) dHH B YeviA § SYdfsd & RN
5. So-sfow § ORRE @ o ¥ e |
(A) WEUEH T HHET FOIA (B) & HER FOTed
(C) et womedt (D) e Fomedt
16. B YaUF H TH Tey HE ¥ o
(A) AqE FE (B) T &

(C) TS (D) S9eY o
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17,

18.

19.

20.

Most important factor for construction of Indoor training hall is :
(A) Ventilation (B) Sun light
(C) Direction (D) Floor inclination

In which year National Plan for Physical Education was published by Govt.

of India ?
(A) 1956 (B) 1960
(C) 1962 (D) 1958

The professional ethics in physical education is :

(A) Sociabilities and mass participation

(B) Physical efficiency and performance

(C) Dedication to physical education programme and moral values
(D) Mass demonstration of physical actitives

Correct sequence for sport management should be :

(A) Controlling, direction, planning and organisation

(B) Direction, controlling, planning and organisation

(C) Organisation, planning, correcting and controlling

(D) Planning, organisation, correcting and controlling

T.B.C. : 12/17/ET-III 10



17. 3F9eR wfem 7@ 99 % o 998 weal e w2
(A) UTRH (B) 9d &1 v
(C) fewm (D) TR FAEAAIA

18. YRd &R 3N fou w3 wiifts foan = u<im 9 & oM o9 ?
(A) 1956 | (B) 1960
(C) 1962 (D) 1958

19. vriftw foan d§ =Ewfas g =1 § 2
(A) T &9ar T Grfes wriErl
(B) YRR &Wal wd WHHH
() wrifw fago dwm % ufd FHdw qon Afew g
D) Wi wfafafed & afes wewi

20. WA YEYA § A IHH B afew ?

(A) frEw, fn, 99 @ E@e
(B) fewm, fesm, dsn wd @A
(C) Hwed, A, gyt e s

(D) e, S, gevE ug fAEgEm
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21. Intramural competition is basically meant for :
(A) Team work (B) Mass participation
(C) Discipline learning (D) Self sport activity
22. The Intermediate Olympic Games held in :
(A) 1902, Athens (B) 1906, Athens
(C) 1910, Paﬁs (D) 1914, Paris
23. FILA is sports federation related with the Game :
(A) Football (B) Lawn Tennis
(C) Ice Skating (D) Wrestling
24. The 1920-Antwerp Olympic Games Flag replaced in :
(A) 1984 (B) 1988
(C) 1992 (D) 1972
25. - The blood doping was banned in :
(A) 1975 , " (B) 1985

(C) 1990 (D) 1995

T.B.C. : 12/17/ET-III 12



91, TgeR WA Tera: feufey At § 2
(A) wrEfes wH (B) wrfesh wwiery
(C) v AT D) @wd @a T
92, wew SofEE A F9 g A ?
(A) 1902, W | (B) 1906, T
(C) 1910, W™ (D) 1914, U™
23. T WerEY R @ @ wafua § 2
(A) EErE (B) w7
(C) =% whfan (D) K
24, IQZO—W.Wéﬁa?w@WWWMW ?
(A) 1984 (B) 1988
(©) 1992 (D) 1972
25. A UM W Fa wfaafud femm o ?
(A) 1975 (B) 1985

(C) 1990 (D) 1995
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26.

217.

28.

29.

30.

The doping test without testing facility banned in 1989 :

(A) Gene Therapy (B) Human Growth Hormone
(C) EPO , (D) Stanazolole Steroid
Athletics team of country banned in 2016 Rio Olympics :

(A) Russia _ (B) Germany

(C) Ukraine (D) Israel

The current President of IOC :

(A) Dr. Jacques Rogge (B) Thomas Back

(C) Antonio Samaranch (D) Sabestain Col

The I0OC delimited the maximum athletes in 2020 Olympics :
(A) 10,000 - (B) 10,500

(C) 11,000 (D) 11,500

The Women Marathon was first time held in Olympics in :
(A) 1976 (B) 1980

(C) 1984 (D) 1988

T.B.C. : 12/17/ET-III 14
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27.

28.

29.

30.

1989 # f&g 2w whyw =1 fa gfaw & wfvafem e mn 2

(A) S o ~ (B) ©g= gfg Tl

(C) % . 3 D) wWHSE ©ae

2016 & T Meifos @ F fvm 2 #t W Y wfaafua fem o 2
(A) ®H | (B) <t

(C) T (D) TR

FAE H 8. of. W+ etmm A ¥ 2

(A) = g I (B) 9rmw %

(€) IR guR= (D) JF=A F

2020 & s § ofd. aﬂ.ﬁ.%afwﬁmﬁﬁq%@ﬁﬁmr@’r%?
(A) 10,000 (B) 10,500

(C) 11,000 (D) 11,500

Higensti #1 Avgw few siafigs § guw av & ?

(A) 1976 (B) 1980

(C) 1984 (D) 1988
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31. The Olympics Day is celebrated since 1948 on :
(A) 23rd May (B) 23rd June
(C) 20th Sep. (D) 20th Aug.
32. The following is not the techique of massage :
(A) Effleurage (B) Beating
(C) Vibration (D) Imagery
33. Which of the following is not the method for body composition ?
(A) Body Mass Index
(B) Hydrostatic Weighing
(C) Bodpod
(D) Dual Energy X-ray Absorptiometry

34. According to prohibited list 2018 how many classes of substances are prohibited
at all times ?
(A) 5 (B) 6
© 4 | ™ 3

-

T.B.C. : 12/17/ET-111 16



81. 1948 ¥ 3afigs R w9 W v § 2
(A) 23 7§ (B) 23 A
(C) 20 fam=r D) 20 T
32. T ¥ wE wiaw # awdAE WX ?
(A) THREW (B) e
(C) H (D) Aol
33. fm d ¥ sFm e s9Ee w9 @ Tl T T 2
(A) S T TR
(B) voedfis (FmEfew) o FW
(C) wEwE
(D) JFA F THRAR IO
34. fafeg gt 2018 & aER foedt R & fafvg wd waw & foag ffeg & 2
(A) 5 (B) 6

(C) 4 D) 3
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35. What happens to lactic acid after exercise in the body ?

(A) Can be converted to glucose

(B) Cannot be converted into ATP

(C) Cannot enter into the blood

(D) Does not go into the liver

36. Kyphosis is :

(A) an exaggeration or increase in the amount of convexity of the thoracic

region of spine

(B) Increase in the amount of the normal concavity of the lumbar region

of the spine

(C) Exaggerated lateral curvature of the spine

(D) A decrease in the amount of convexity of the thoracic region of the spine

37. Which of the following need to be replaced within one hour of exercise ?

(A) Proteins (B) Vitamins

(C) Carbohydrates (D) Minerals

T.B.C. : 12/17/ET-III 18
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35. =M # W% R § s e w1 ow g ¥ 2
A) T @ # ofEfa &
(B) widt & wfadd 7@ A
) T # T wdEm
(D)aﬁawﬁwﬁqgam"
36. mm%
A) {7 = TSl & ofgw &3 F sve w1 RS g A s
(B) T %1 g & difgs &3 § W eEa H S
() T & Tt # Twd wHar w ARRfoE A
(D) g %1 TSt & 9ifgs &9 H o H A
37. fre # ¥ fous =W 3 @ UR & Y Yy # # Sevdsda § 2

(A) ¥RH (B) forafia

(C) wwETEEe™ (D) fora
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38. The following are the principles of evaluation, except
(A) Objectivity (B) Quantifiability
(C) Scientific (D) Popularity
39. The following is not the Basketball Skill Test :
(A) Johnson Basketball Test |
(B) AAHPERD Basketball Test
(C) SAI Basketball Test
(D) Cooper’s Basketball Test
40. The following is not the Hockey Skill Test :
(A) SAI Hockey Skill Test
(B) Friedelfield Hockey Skill Test
(C) Embden Mayerhoff Hockey Test
(D) Chapman Ball Control Test 1982
41. The following is not Volleyball Skill Test :
(A) Brady’s Volleyball Skill Test
(B) Chadwick’s Volleyball Skill Test
(C) North Carolina State University Volleyball Skill Test

(D) SAI Volleyball Skill Test

T.B.C. : 12/17/ET-I11 20



38. fFrefafas geoes # fagra ¥ faama .
(A) fawafrssa (B) ﬁm(W)
(C) Sfreman (D) ERfsE
39. ¥H ¥ FE TEhedld &HAT TOHT TEH & ?
(A) THEA FR=heald =
(B) ¥MEUE AhEld L
(C) TE srehesld 2R
D) HR AR 2w
 40. sﬁﬁmzﬁﬁmqﬁmﬂif%?
(A) 9 R Al SR
(B) Wieahiee BRI &Hal o
(C) THSd AIEl® gl 3=
D) 9 ste freEm T 1082
41. ﬁﬁﬁmaﬁmmuﬂmaﬁ%?
(A) ISl afefisla &Hal 2 |
(B) =efogw afeaia ama 3=
(®)) mﬁ%ﬂﬁmézﬁwﬁamaﬁa’mmw
(D) ui¢ afeiata &mda 2=
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42. An isometric muscle action is characterized by the production of force :

(A) as a muscle lengthens due to extension of a joint
(B) through movement generated in opposition to the downward pull of
gravity '
(C) as a muscle shortens due to flexion of a joint
(D) through tension and muscle contraction without movement
43. Milk is deficient in which of the following nutrients ?
(A) Protein (B) Fat
- (C) Calcium (D) Iron

44. Regarding brushing of teeth which of the following statements is

most appropriate ?

(A) Is done to remove the food particles trapped between the teeth

(B) Use of brush is more effective than use of threading

(C) Paste contains fluoride that is responsible for strong teeth

(D) Toothpaste is more important than brush as it contains mouth fresher

| 45. When you put a question in the class to check the knowledge of students,
the best method would be to :

(A) Put more than one question at a time to stimulate students
(B) Frame the question as lengthy as you can
(C) To point to intelligent students first and then put the question

(D) To pose the question to the whole class and then select somebody to

answer

T.B.C. : 1217/ET-III 22



42.

43.

44.

45.

TrerETd ATt Yuig fEmel @ 9@ SR WhEw & AT ¥ o
(A) et St & g B W AW

(B) TEemwsw & fauda weed w1 9= g

©) It w1 e & Gt ¥ fame

(D) @& BRI TS WiEyE ® GHed fon wEed &

gy # fre Qe q@ w7 FH A ¥

(A) WA (B) e (FEM)

(C) Hfewad (D) e T

i F gm F B o P § ¥ e Fo TR I0gH ¢ 2
A) o F B TR D wo o P ® g # aw §
(B) oW &1 TR wIm § fyw wemawTed ¥

©) F= § wires @ W < w1 Awegh & fow R §
D) o= 9w R Sfrs wEeg § wifE wE de ORI A ¥

39 oW FE o TE o ool w0 @ fou war § @ W T ¥, @ e o
ads B :

(A) BE F sfwm wE @ faw wH ¥ efew W @ |

(B) W & fqam1 &= & THA §, §EQ

(C) WS FfeEH Bl # Ifm L SR R w1

D) T F W FAOE IR F AR @ A B fA¢ fFE B
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46.

47.

48.

49.

Pre-environmental circumstances that affect jumping performance for 6 year
olds the same today as when the 10 year olds were 6 year, addresses which

type of problem ?

(A) Age problem (B) Cohort problem

(C) Environmental problem (D) Ability problem

Operant conditioning is the shaping, maintenance and reduction of :
(A) Voluntary Behaviours (B) Involuntary Behaviours
(C) Innate Behaviours | (D) Cognitive Behaviours

The term “reinforcement” is roughly synonymous with the term :
(A) Strengthening . (B) Gain

(C) Award (D) Reward

The statistical study of behaviour and relationships within social groups,

especially expressed in terms of preferences is known as :
(A) Socio-diagramming (B) Sociometry

(C) Socio-programming (D) Socio-economic

T.B.C.: 1217/ET-III 24
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47.

48.

49.

vd watawita ofifeufdl § 6 e & fog =73 oren yvE S W oA S S

10 O/ &1 o1 6 O w1 o, fFE yER &t e ® guiar ¥ 2
(A) g wHEN (B) S §HHT

(C) wataRvfta Fwe (D) FrFa Tl
aﬁtmm,r@—m@ﬁwﬁﬂmﬂﬁm%?
(A) wWfess =HaR (B) amifes® =aer

(C) eI AR (D) HAEREH HIER

YEEH Al R v F gHdS ¥ 2

A) = Ed (H59) (B) =¥

(C) Y& D) ™

e T e =Zaer R fwd = gifersa seem, e w9 @ mafirmasi

3 g § == fvar s © o
(A) SIS (B) warsify

(C) wrfSTes-wrfET (D) wmfSw-anfds
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50. The components of health-related physical fitness are :

(A)

(B)

(C)

D)

Cardiorespiratory fitness, muscular strength, muscular endurance and
flexibility

Cardiorespiratory endurance, muscular strength, muscular endurance,
flexibility, and body composition

Hand-eye coordination

Spiritual, physical, emotional, social, and intellectual health

51. Muscular endurance is defined as :

(A)

(B)

(&)

(D)

Peak ability of a muscle to generate force
The ability of the heart to provide oxygen rich blood to the muscles
The ability of a muscle or muscle group to generate force repeatedly

An ability you are born with and cannot train

52. The cool down after exercise is important because it :

(A)

(B)

(C)

(D)

Improves oxygen uptake
Regulates breathing
Speeds the removal of lactic acid

Decreases adrenaline

T.B.C. : 12/17/ET-1II 26



50. aren ¥ wefyad i feedw & =i A fra wibe ®
(A) FFEaRfeqed fresm, Ty wid, 9 ¥Re iR o=
(B) wifeanfeptelt fretw, ¥y wifdm, Wit i, a=iamd ok YRR =
(©) auﬂ%mw
(D) emeafess, T, sWEAeTs, e 3R difgs wre
51. Uit fie = ofonfem w@ €
(a) @ Y1 w0 F fou ARE AL Fogma
(B)mﬁﬁmmmmaﬂ%ﬁmaﬁm
(C) wiEafrEl iR miglsht 99y # wf @t aR-sR v IS N S A
(D) TH eyl frgs g o9 99 99 § ek 3 W R wea
52. AW H W% YA WEEqU § Fifh
(A) 3ffFfeE oF ¥ gur
B) ™ F fra=m
() ofres s =R F Tfa g

(D) TS B FH FE
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53.

54.

55.

56.

Which one of the following is not an example of a doping substance ?

(A) Adrafinil (B) Etilamfetamine

(C) Dextromoramide (D) Caffeine

You‘should ice a soft tissue injury f(;r :

(A) 5 minutes after it i’xas occurred

(B) 10 minutes after it has occurred

(C) 20 minutes every 2 hours for 24-48 hours

(D) None of the above

TOTAPS is :

(A) Best way to make sure a player is fully fit beforg returning to play after
injury

(B) Best way to ensure full rehabilitation from injury

(C) The machine that physiotherapists use to stimulate recovery

(D) Assess an injury to a sports player .on the pitch

The action potential relies upon the movement of which of these ions into .

and out of the cell ?
(A) Calcium and magnesium (B) Iron and iodine

(C) Sodium and potassium (D) Sodium and magnesium

T.B.C. : 12/17/ET-1I1 28



53. fm3 # | 31 ff ggid #1 TR A8 T ?

(A) weuiwfa (B) UfeamawardEd

(C) TFAIERMES D) &FHHE
54. Y Td% S 42 H Y g6 AN

(A) 9 & 5 e 9"

(B) = % 10 fire =g

‘(C) 20 fae & <1 w2 H 24-48 W T
D) zww d § wE T

55, @L.eNd.udud. % :

(A) I7 giifvea 0 &1 990 3= ol ¢ & faardt = &S] @t & fag
e % fog gl e |

(B) =r ¥ g qraty ghfvea &0 &1 el 3= ali
© wiw st fefsaifre et & fau e s @
(D) faaregt #t 9k =1 59 | e FE
56. TRM URfgae & fau SH-SRY eE FITE oY Td S Wi § 2
| (A) wfewmm wE AeifEm (B) @ aa iR A

(C) Wfegm v drefyrgw (D) wfegn iR Arifey
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57. Which of these is an example of a neurotransmiter ?
(A) Dopamine (B) Nor epinephrine
(C) Acetyl-choline | (D) All of these
58. Oxygen delivery to exercisil;xg skeletal muscle increases due to :
(A) Decreased cardiac output
(B) Redistribution of blood flow
(C) Decrease in arterial blood pressure
(D) None of the above

599.  Along with the nervous system, which other system controls the internal

environment (homeostasis) :
(A) Muscular (B) Endocrine
(C) Respiratory (D) Digestive
60.  After three weeks of regular exercise the resting pulse rate should :
(A) Increase (B) Unaltered

(C) Decrease (D) None of these

T.B.C. : 12/17/ET-III 30



57. TR ¥ AW UIEHE F [0 T ?
(A) SHEH (B) AR TfAwH
(C) THfea-=ifaa D) 3 g4t

58. AW FT W HETd WU ¥ sAtedis 1 e syesya e 7§ fRw s

q e ' ?
(A) wIfeqs 3MSTYE H1 H9 B
(B) @ & Waig &l FAfSaLl
(C) wwl =TT HOHH
(D) sWw o F wE T
59. df=@ @ @ W9 S I dF ARE aaE B frEta s € 9w o
(A) HERER (W) (B) it
(C) Ya&d (D) wr=A
60. Trafm =M & 9 TRl & 9% W A W A
(A) Ffg & (B) ®I§ = A B

(C) &| B (D) T | HE T
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61.

62.

'63.

64.

A muscle fiber relaxes when :

(A) All the ATP is used up

(B) The actin binding sites are saturated
(C) The nerve stimulus is too forceful
(D) The nerve stimulus is removed

Learning the sports rules, theory and history fall under which domain of

learning ?
(A) Psychomotor (B) Affective
(C) Associative (D) Cognitive

According to sport sociologist, the sport is primarily described as which kind

of activity ?

(A) Professionalized ~ (B) Idealized

(C) Institutionalized (D) Musculoskeletal

Milo of Greek used two principles of muscles, strength and endurance
conditioning :

(A) Progression and Overload

(B) Resistance and Overload

(C) Intensity and volume retention

(D) Frequency of repetition and progression
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61. Mﬁmaﬁm‘ﬁmm%m:
(A) Tt wIrdt I9Em H oI ST ®
(B) UfRA wreasil SR 9@ o Wl ¥
(C) df=1 SUsH sgd e @l
(D) daf=w1 VST B < WA

62. ftrm & fFg ywE 99 § ©a & Faw, fagl @ sfem @ dieT gatg

(A) wATES fEE (B) &wHF
(C) EI% (D) ¥ Hadt
63. Ve WHNVITGEl & IHER, ¥d Jored ¥ few ywr & e & 2
(A) eI B) e
(C) W@ (D) ST A |
64. 7w & ficht A wiwTh s@ wE wewiew # R fagr w@m F o
(A) wifa wad sfaum
(B) widw wd AfquR

(C) i wd@ a3
® g # s @ R
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65. Choose the correct statement :

(A) If F-statistic is significant at 0.05 level, it will also be significant at 0.01

level

(B) If F-statistic is significant at 0.01 level, it may not be significant at 0.05

level

(C) If F-statistic is significant at 0.01 level, it will necessarily be significant

at 0.05 level

(D) If F-statistic is not significant at 0.01 level, it will not be significant

at 0.05 level

66. If the respondents were required to rate themselves an emotional strength

on a 9-point scé.le, what type of data would be generated ?
(A) Interval (B) Ratio
(C) Nominal (D) Ordinal
67. Which of the following is an example of close skill ?
(A) Dribbling in basketball
(B) Rallying in tennis
(C) Backward somersault on floor exercise

(D) Dosing an opponent in football
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65.

- 66.

67.

& HE HA
(A) 3R F wifess! 0.05 W 7eaqyl &, @ 98 0.01 W ot Weayol anff
(B) 3R F wifem®t 0.01 W "eaqef §, & 9% 0.05 W Hewqul =& et

(C) 3R F wifemst 0.01 W 9oyl ¥, @ 9% Mavgs dR W 0.05 W ot wecgo
full

(D) 3R F wiferst 0.01 W 7ol T2 &, @ a8 0.05 W st Wyl =& 2t

3R IWEERA H 9 H F TAM W TE H HGAHE dhd W & FAH & fau

FEvEaE: A, @ fF9 yER & S & fmim dm 2

(A) AR (B) 379

(C) -m=EH .(D)W
frefafas § ¥ s Fve f[uife (38). Five &1 erw & 2
(A) aiehesta | feafam

(B) fa # &t

(C) wR =AM W 9 H WE FH@A

(D) WHesld # oa wiaggl =+ dren &
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68.

69.

70.

71.

Process of gradual disappearance of the conditioned response or disconnection

of the S-R association is called :

(A) Stimulus generalization (B) Stimulus discrimination
(C) Extinction (D) Spontaneous recovery
Principle of tension reduction by which the Id operates is called :
(A) Wish fulfilment principle (B) Primary process principle
(C) Reflex actions principle (D) Pleasure principle

Dividing the students in a class or area of activity can prove beneficial in

adjusting the method of instruction to varying ................ .
(A) Individual differences (B) Interest
(C) Intelligence (D) Aptitude

If the sample size increases, the value of correlation coefficeint, required for

its significance :
(A) Decreases (B) Increases

(C) May increase or decrease (D) Remains constant
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68.

69.

70.

71.

FgHfaq gfafswar 71 wo-3R wed & f5dm & #he §9 § e W # uiEd

H OF Fa AT 8§ ?

(A) U \HEHFH (B) 3l AZHE

(© vfyfa | (D) ¥esl qHfa

T w8 A % fagr e g o € (ID) we=ifaa dar §, wwera ¥
(A) z=fd w1 faer= | (B) mmmfﬁm‘

(©) wes fwa fao= (D) et =1 g

T i A fafafy & &% 4 sEll % faufsa w0 & fow sem-sem foan & alte

F GHENSG FH H AWERT wifda 8 g ¥ o

(A) =afRTE A9 (B) feereedt

(C) Ffgmm (D) wes @M (Afgh)
ﬂﬁ:vmmm%ﬁhaﬁmm—WWWW:
(A)4W% (B) =gl §

(C) 9% ¥ & O U= wEHA (D) feer @@ ¥
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72.

73.

74.

75.

If it is desired to compare the cardio-respiratory endurance of under-graduate
and post-graduate students of an institute, which is the most appropriate set

of hypothesis ?

(A)  Hg:ipyg = keg (B)  Hg:hyg * Hpg
H; Thye < Mg H, :pye = Heg
(C) Hj:pys =My D) Hy Ry =Hp
H, i Hyc # Hpg H, 1 pyg > Hpg

The total number of events will held in Athletics for men and women in 2020
Olympic :
(A) Men 24, Women 24

(B) Men 24, Women 23, One Mix

(C) Men 25, Women 25

(D) Men 22, Women 22

Maximum number of nails can be used in running shoes of athletics :
A) 7 (B) 9

() 11 (D) 13

How many colours are in the Archery target face ?

(A) 4 (B) 5

) 7 D) 9
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72. TH THHA & Tow AR FEERR TE B 79d 6T e # gom w0 $ fo,
IREwTT FT RS Y Y I9gE ¢ 2

(A)  Hp:ipye = kpg (B)  Hj:pyg # Mpg
H, *Hyg <Hpg H; 11y = Meg
(O Hipyg = Mg D) Hy:pyg =Hpg
H, : fyg # Hpg H; pye > ppg

73. 2020 g H gEw ud wfeen o # uyefesw A feadt whrafant &t 2
(A)W24,Wf’6?ﬂ24'
(B) g&9 24, Afeen 23, 01 foew
(C) 9w 25, #feenm 25
(D) 9r9 22, Hfeen 22
74. uyfesm # W S H oofueaw fead wte swdm feu s owewa ® 2
Aa) 17 (B) 9
() 11 (D) 13
75. dRGSt # T B # frad A ¥ 2
A) 4 (B) 5

(C) 7 M 9
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